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B | 1112,
WUg - 3 / SECTION - A
g[S U¥T / Objective Type Questions
mmzﬁsbwa@ﬁwmﬁlﬁﬁ#ﬁ?ﬁ40nﬁwmhgl
mm%mwﬁmﬁvvv?ﬁiﬁ#wwz?%/am#mg#w
Wl laeq & OMR vite v Rafera #%1 40 x 1 = 4

Question Nos. 1 to 80 are of objective type. Answer any 40 questions. Eqch |

question has four options out of which only one is correct. You have 1t

rﬁark your sélected option on the OMR sheet. 40 x 1 = 40
I. Zn+CuSO4 —>ZnSO4+Cu

SR A A wETEteE sl few wer 6 2 o

JA)__gEE sifufean (B) ﬁmm:{ Jfifman

(C) el arfirfiran (D) foram arfyfpa
Zn + CuSO4 - Z.nSO.4 + éu

The above reaction is an example of g

(A) Combi.nation reaction

(B) Displac'cmcn't reaction

(C) Double displacement rcaction

(D) Dccomposition reaction

24(M)-H/S-41003-(52/60) Page 4 of 40
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B

mgmmwﬁmawmaﬁmmwm

(\) e R @S

(C)  IfElda w2 (D) T @ WIg AdI

o

On moving from right to left. across thc pcriod of thc modcrn

‘periodic table, the atomic size

(A)  increcascs (B) dccreascs

(C) rcmains unéhangcd (D) nonc of these

3 Wﬁﬁﬁmﬁmaﬁmm%,ﬁmmﬁ?«ﬁ@?ﬁ%
(A) e | _

(B) fem
(C)  =HhIAT Isten (D)

When magnesium ribbon Is ignited, the flame produccd by it is

(A)  Yellow - (B)  Blue

(C)  Dazzling whitc (D) Red-

4. W Tfvesh g2 C,H, 1 Tl 2

(A) 9 "EHANH qyq (B) 8 HrEAINh suq
(O 7 HrEANE gug (D) 6 HEHAH dyq
The molecular formula of cthanc is C,Hg. It has
(A) o covalent bonds B) 8 Covalent bonds
< 7 coval'cnt bonds (D) 6 covalent bonds
= i

24(M)-H/S-41 003-(s2/60)
— 2 7152/60) |
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5. wiew fafean 4 A sl ) el & e wyws 8 aren vafes gere @

(A) e gl (B) - e 1 e

(€ & g (D) forem

The chemical substance used as a cast for sclting broken boncs in
surgery is

(A)  Washing soda (B)  Plaster of Paris

(C) Quick!imc | (D)  Gypsum

6.  Tm=ifea § w9 aaais A 2 o
(A) KCl : | | (B) . MgCl,
(€) CH, | (D) NacCl
Which one of the following is a covalent compound ?
(A) KClI ‘ , - (B)  MgCl,
(©)  cH, (D)  Nacl

7 5% mﬁmm@aﬂwﬂaﬁw@m%

(A) e | (B) =it
©— =i D) A
| An aqucous solution of amn'*ionium chloride is
(A) neutral (B)  acidic
(C)  basic (D) * none of these
—

\
EZWH/S—‘} 1003—(52/60)\
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8.

Pl 3 919 g o et
?
(A) iR |
' (B)  3TEIEH

(C) Tmes
(D) AwTEe

Which of the following ;
lc_’wmg is a good conductor of clectricity ?

(A) Plastic
~(B) lodinc
(C)  Sulph ' '
PREL - (D)  Graphitc

ﬁﬁ:‘ﬁmzﬁmﬁwmélsﬁmw%?

(A) 1 B) 2
(C) 3 (D) __4

The atomic numbcr of magnesium is 1

[112 |

2. What is its valency ?

a1 B) 2
c) 3 (D) ,ad
10. ﬁqﬁma‘m-u@wﬁwmmaaw%ﬁﬁwﬁ?ﬁ@m@m%?
(A) el 3) @it
© e o) AR
- page 7 of 40
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12.

[112]

Which of the following mctals is displaced from its salt solution by

iron ? :
A

(A) Coppcr (B) Sodium

(C) Calcium (D) ‘Magncsium

ﬁﬁmﬁﬁﬁéﬁmﬁaﬂeamﬁts3an§Tﬁmaﬂﬂﬂﬁ#$f?mT§RTﬁﬁm<ﬂﬁf§?

The commercial production of .cthyl alcohol is donc by which

chemical process ?

(A) | Oxidation (B) Rcduction
(C) Fermentation (D) Roasting
eft <1 i TEER A @ P

(A) Ca(OH), ' .(B) - CaO

P

(C) Ca(HCO,), (w CaCo, -
What is the chemical formula of quicklime ?
(A)  Ca(OH), (B) CaO

(C) Ca(HCO4), (D) CaCoO,

24(M)-H/S-41003-(52/60) Page 8 of 40
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3. ARG THS &
A\ NaCl +K
. 0 (B) NaCl + KI
©) ()R (B) < D) v A wE
[odized salt is
(A) NaCl +KIO\3 (B) NaCl + KI
. (©) Bothidliand (B) (D)  Nonc of these
'14. mm&ﬁ?mmﬁsﬁmw%? -
C(A) Hfewam Fewe (B) Hfogad wehe
() hfegam dehe gdlEEge (D) Ffomm wIES
Wﬁat is the chemical name of Plaster of Paris ?
(A) Calcium sulphatc
(B) -_ Calcium sulphate monohydrate
(C) Calcium sulphate hemihydratc |
(D) Calcium chloride
15, %aﬁgmvﬁﬁwwﬁ%r{?f%? :
() TR (B) W
© =gH | (D) ¥ ¥ hIe T
What is present in cathodc rays ?
(A)  Elcctron (B) Proton
—__(C)  Neutron (D) Nonc of thesc
|§4(M)-H/S-41003—(52/50) Page 9 of 40
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1174

18.

has N gy ) @-d fafu g ?

(A)  wnah - (B et

(C). =M (D) @ HE T
Which mode of nutrition is found in fungi ? |

(A)  Holozoic . (B) Saprophytic
(C) Autotrophic | (D) Nohc of these
fraffaa 3 = qmes oh 2 2

@ smy B

(C) vl | D) el T
Which of the following is the malc gamctc ?

(A} Ovum (B)  Sperm

(C). Ovary ' (D) .F'c.lllopign' tube
Tl dia 1 U aagm 2

(@) e B)  FrfEery

() s R

An cxample of parasitic plant is

: shr -
(A) Mushroom (B) B'yophyllum

(C) Cuscuta D) Pinus

I]]g

24(M)-H/S-41 003-(52/60)
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19.

20.

21

[ 112 ]

fdes T ST @

s (B)  ®Iggl

© S (L5 & g Tl
Binary fission is found in

() Sponge (B) | Hydra

(C)ge Bactenia (D')_ None of these

g ””'aﬁq"mg‘ﬁ‘!ﬂﬁﬁ%%?

(A) T . B R

(© RS - (D) T

Which hormone is sccretcd‘ from pax.qcréas"?

(A) - Epinephrine .(B)' Testostcronc  ,
(C) Norcpincf)hrinc (D) Insulin

Frferan @ i T 1 o A ¥ o st 2 2

A) T s o B) T SR

(©) e T B D). THIBE T

Which among the following is responsible for Clo'ttiﬁg of blood ?

(A) Blood platclcts (B) WBC

(C) RBC (D) None of thesc

J’—

24(M)-H/S-41003-(52/60) : Page 11 of 40



22.

23.

24.

[ 11
el shawtedl g fre e B R Erd B S di @ 2
(A) g (B) I
(©) {F@W . (D) sqﬁ@rmﬁ

~

Which: type of nitrogenous wastes is-cxcreted by living organisms :

(A)  Urca Wit (B) Ammonia

(C) Uric acid D) Allof thes;.

Realeen 99 7 s st 7 v 2

(A) e . (B urRifE

(©) wRA D) @R

The change in bod‘y that occurs during adolescence s duc to

(A)  Testostcrone (B) . Thyroxine

(C) Estrogen (D) Both (A) and (C)

TR 1 Her Y v |
(A) st B 2
) Wk Q@ wfamn

The body is balanceq by the orgah

(A)  Cranium
(B) Cerebrum
(C) :Ccrcbcllum

(D) Braj

n stem |
24(M)-
(M) /8410035 eaT Pagc 12 of 4
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_(AL_MgCO, © (B)  Na,CO,

(C) CaC()3 (D) Mg (HCO,),

The chemical formula of Chalk is

(A)  MgCO;, ~ (B) Na,CO,
- (C)  CaCO, | (D) Mg, (HCO,), e
26. Feiferd d -+ urg waifus a7 2 2
@ @ | (B)__di=-
€ (D) W
Which of the following mctals is the ﬁlost ductile ?
(A)  Gold - (B) Copper
(C) Iro‘n . ' _ (D) Zinc
27 9 Ry SHA CoH,, B, F T derTones ammeee dvg 8 o
A 2. = B) 3
C) 4 (D) 5 |
How many structural isomclrs of pcntane, having molecular
formula C;H,, are possible ?
@ 2 | B3
© 4 D) 5
\

24(M)-H/S-41003s27601] Page 13 of 40
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28.  wfufiamshiel @R SCO 1 FaEd ¢
B) 3R T .
(A ofees wE (B)
- : el AE
(€)Yl W (D)
The functional group >CO is called
(A)  aldchydc group (B) gthcr group
(C)  alcohol group _ (D) * carbonyl group
29.  HIs urg AR % T il w1 3= e At it @ 2
ﬁﬁmmﬁ%ﬁa%la—saaﬁmﬁaﬁ‘iﬁﬁq‘@m%?
(A)  Tfemia (B) R
(C)  hfewam (D) &
A metal reacts with oxygen to form a compound with high meltir
p
point. This compound-is soluble ip watcr. Which of the followir
clements can it be ?
(A) Silicon (B) Carbon
(C) Calcium (D) o
30.  HICTSE 18 g 1 srress 3 -
A). Mg ® cy
(C) Fe ‘ O g -
24(M)‘H/S~4 1003_(52/60) gen=t



Malachite is an ore of which mectal ?

(A) Mg (B) Cu
(C) Fe (D) Au
4. @ w R wa afw w0 A e R e 3
W Frgdw (B) F&
) foea Aqees (D) - eI
The process of coating a layer of zir'lc on iron ris f:allcd
(A)  clcctroplating (B) corrosion
(C)  clectrolysis (D) galvanisation
32, foes # e o HF-T1 3T AR ST R P
) ffes s (B)  THHTRA
—
(C)  HITHeR 3 (D) BTESTaANGh 3T
Which of the following acids is found in vincgar ?
(A) .' Acctic acid (B) | Sulphuric acid
(C)  Formic acid (D)  Hydrochloric acid
33. e gfy Q #1 Feafefea § fra of| % g e w2
(A) aa-«nw (B) 3T«
(©) s (D) ATy,

| 1

24(M)-H/S-41003-(52/60)

——

Page 1



36.

l112

is us smovc short sightedne. .
Which of the following lenses 18 uscd to rem g ness 5

“onvex
(A)  Cylindrical (B) Con

(C)  Concave (D)  Bifocal

ﬁﬁmmmmwwﬁmmmg

(A) PR ¥ IiwIE W (B) A RIS T

) Shwarardggw (D) T A B A

Most of the refraction of the light rays cntcring the cyc occurs at
~(A)  Interface of cyc lens (B) Interfacc of aquecous humour

(C)  Outer surfacc of cornca (D)  Nonc of these

frferfaa & w17 da A e 1 A 2 0

(@A) e (B)

(C) 3w (D) <

Which of the following is the unit of power of lens ?

(A)  dioptre (B) watt

€ crg ‘ (D) joule
-Wﬁﬂﬁmmwﬁ—gqmw% 5
B G

(C) HAddd D)

24(M)~H/S-4 1 003—(52/60)
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38.

[112 |

What type of lens is found in human cyce ?
(A)  Convex (3)  Bifocal

(C)  Concave (D)  Cylindrical
gamd % T fRm ador a1 s g 2 o

{B) 3T oy (B) gwaet gdul

(€) 3T« gdu . (D) & F I A
Which mirror is used as shaving mirror ?

(A)  Concave mirror (B)  Planc mirrar

(C) Convex mirror (D)  Nonc of these

%Fﬁa!@wawaaa&mamwg%ﬁaanm@ﬁ Hur a1 9% @ 981 U
T, aeg 1 Rl wat B =iy -

(A)  TShel 5 &/ AR (BY—T&T BIH a1 Sshal g % g
(C) AT W (D) = % ya o e ey ¥ g
If the image of an object .formcd by a concave mirror is virtual,

crect and larger than the object then where should be the location

of the object ?

(A)  Beyond the centre of curvature
(B)  Between principal focus and centre of curvature
(C)

At the centre of curvature

(D)

Between the pole and principal focusg of the mirror
\

24(M)—H/S-41003—(52/60)' Page 17 of 40
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30, wanw ) Fswr @) g ) g 6 e
| e o) &I o
SEER @ @A o
(A) —
() duHgiew @ (D) W B TR
The capacity to bend rays of light is called

(A)  the power of lens

(B)  the reciprocal of the power of the lens

(C)  the power of accommodatien of the lcns_

(D)  none of these
Q. 31T T g W iR g
-MET

(C)  3murd

(B) __ Hie
(D) . 399 & mafy

The image obtained by a éoncave lens ig

(A) diminishcq

(B) crect
(C)  virtual (D) an of thege
41 e T S
(A) s 3 B) 7o 3
©r wRA D) 3y
24(M)—I~I/S~4100



B

Latex 1s found in
(A\)  Pinus
(C)  Ncrium

ugiog E1fad g

42.
(A) SN gRI
(€ Tevltgm
Androgen is secreted by th.e
(A) Ovary |
(C) Duodenum
43, afdent w8
o A
(C) TSN I
Style is part of
(A)  Filament
(C)  Ovary | ;
44, DRI e %
(A) 1@ 171 =
, €)= atq = B
\

(B)

(D)

(B)

(D)

(B)

(D)

(B)

o)

Rosc

Mango

EAME-

HAHRY gra

Testes

Stomach

-

STRIAT <7

Johal I

Gynoecium

Stamcen

HTHIRA bl

Bt 3ATd 1

[112 ]

24(M)-H/S-41003-(s2/60)
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Duodenum is a part of

3 ach
‘ : B) Stoma
(A)  Buccal cavity (

Small intestine
(C)  Largc intestine (D)

‘ firctent Sq1 2
35, s i it fog, dfew, 2R qu1 HHST T
(A)  Iegea aF (B) ST A
(C) e[ a (D) ¥EEA

In human beings, nasal cavity, larynx, trachca and lungs combin,

to form
(A)  excretory system (B) - réproductivc system
(C)  digestive system (D)  respiratory system

46.  9CY ¥ e IR 3

(A) A 1 Herer B) TR ot dgm

) e GaEm O) s sz

In plants, xylem is responsible for

A i B

(A)  oxygen conduction B)  aming acid conduction
(C)  water conduction (D)

s food conduction

47, fyaifem 2
JA)_— T gl
©)  wreferge

- B) ey
D) g

A
\(M) H/S 41003-(52/60) Page 20 of 40



49.

Gibberellin is
a ph - >
(A) phytohormonc (B) an cnzymc

(C) carbohydratc (D) fat

48. gfwdl 1 HEEH1 fhd u1ew gimta % #ror g 8 ?

a) s B) wahaRes I
(C) HTEHTEHA (D) e

wilting of lcaves is due to which phytbhormonc ?

(A)  Ethylenc (B) Abscisicacid
(C) . Cytokinin : (D) Auxin

qﬁwa@mcm%ma&maﬁmﬁwﬁﬁ

(A) 15cm. - _(B)—10cm -

(C) 40 cm (D) 60 cm

The radius of curvature of a co

(A) 15cm (B) I0cm

(.C) 40 cm (D) 60cm

(112 ]

ncave mirror of focal length 20 cm is

' 24(M)_H/S-4 1003-(52/60)
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S0,

S1.

N

qﬂad?l\cﬁwrrdwféﬂﬂ‘”aﬁmwmﬁmm%'

YW Jqada % giy gl g P

() e - B T e
© - (D) Wﬁ@mﬁ

o

A white ray is mc1dcnt obhquely on a glasg slab. Whichc

following wi| occur with the ﬁrst refraction

(A) Deviation

(B)  Total reflection
(©) Dispersion (b) All of thege
RIGRED e T Serefy Em T Brar 2

(A) &




1112 |
In which device does the split ring act as a commutator ?

(A) Electric motor (B) Galvanometcer

(C) Voltmeter (D)  Elcctric generator

a3t B WY forega ey aveh ofte @ B 3

Bl
() ShEdEE (B) @1 d«A
(€L ®R&H (D) TEE |
The device which directly convcfts solar cnergy into clectricity is
(A)  Danicl ccll (B) Dry ccll
- (C)  Solar cell . (D) Eveready cell
54. U TR 9@ % g #1 YW 1200 W 8| I8 Fed 220 dlee < fagd @
¥ Reeet R T S 2 |
| (A)  12TERR (B) 28 TR
) 2 ufErR (D)  0-18 TER
The resistance of the filament of an clcctriq bulb is 1200 ohms.
How much clectric current will the bulb draw from an clectric
sourcc of 220 volts ?
(A) 12 ampcere (B) 2:8 ampcre
C) 2 a;npcre ‘ _ (D) 0-'18 ampere
< .

24(M)-H/S-41003-(s2/60) Page 23 of 40
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31 ¢ AN TR 9 T ghy

55, W e @l faga-args @c 15 Vel 1C

A) 15V B) 3J
© 154 o) 0

The clectromotive force of a cell is 1:5 V. The work done on Pass;)

a Chargc of 1 C will be

(A) 15V (B). 3J-

€) 154 (D) O
56.  3RUAY UMA w8 2 2

(A) TS VI GRI Yo T % ui-faEiqur & o

(B) S HW g AT HRU

(C) 1 TR W Wy % vl fydiw 3 o

(D) ¥ 8§ %I 7

Why is a rainbow colourful ?

(A)  Dispersion of white light by wa{er droplets

(B)  Absorption of Water droplets

(C)  Dispersion of white light by air

(D)  None of these

57. a@wﬁﬁawmﬁﬁm%

(C) 1% sqe D) o

24(M)-H/S~4 1003~(52/60) ol 0
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The absolute refractive index of air is actually

Icss the
(A) an 1 (B)  morc than 1

(C) equalto 1

(D) 0
58, HE—THTN % Tafdhcs g swi e s e 2dor 2
SR SRR B) s o
(€)W (D) T A B A
Mirror used by ENT ( Ear-Nosc-throat ) doctor is |
tA) convex mirror (B) concave mirror
(C) planc mirrof (D) nonc‘ of these
59. dfegn # fohg 19 =1 3w Brar @ 7
@) "I (B) WA
(€) T (D) i
Which of the following gases is used in welding ?
(A)  Mcthanc (B) Ethyne |
(C)  Ethanc : (D) Ethene
0. = (Alkene) <1 HTHT?I LEl g
_(A)\Cn H,, .o (B) C,H,,_,
©) c,H,, (D) C,H,,_,

24(M)-H/S-41003-(s2/60)
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The general formula of an alkene 18

(A C,H,, ,, B) C,Han-2
(C) C,H,, (D) C,Hapuo

6. FAddsn-siawm Fiaa s ?
(A)  wrEE (B) e
(C) Wipfe g @, w7 | w4l
Which onc of the following is a clean energy source ?
(A)  Coal (B) Wood

(C)  Natural gas - (D) - All of these
62. BHI YR fohd pH T % o9 1t S @ o

(A) 40848 | B) 50¥58

(C) 60868 (D708 78

Within which pH range docs our body work ?

(A)  4-0to4-8 (B) 50t058

(C) 6:0to6-8 ' D) 701078
63. memﬁmqaﬁ’?ﬁi%aﬁzﬁ?% ?
(A)  C,H.OH B)  c H0,
(C—C,H,,0, D) cH,

= \ . /
.24(M) H/S-41003-(52/60) Pagc 26 of 40
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'hich of the o " .
Whic “”“'n&' IS the chemieg) [ormula of glucose ? -

A C,H.OH

(B)

©  CoH,,0, o
r. BT HT TETY Gy 3

(A) 17 ®)

Ll D)

The atomic number of sodiy i«

A 17 . (B)

& 1 (D)
5. W’ ¥reg, fohE s e o

W dem @

(C) <mrh (D)

The word '‘Gene' was coined by
(A)  Mendel (B)

(C) Lamarck (D)

%. %ﬁwmwm%?

A) e A | (B)

© gepmi D)
\

20

14

20

14

Johannsen

Darwin

RIHRR §
dfET

24(M)-H/S-41003-(s2/60,




67.

68.

p)
; ission docs not occur *
In which of the following binary flSSlp

(B)  Paramoecium
(A)  Yeast -
(C)  Euglena (D) Amoeba
Y e 8} R s T @ 0
() fewm B) s
© i D)
Pollen grains are formed in which of the following ?
(A) | Ovary B) Style
€ Lenves | D) . Anther
o it ey
W g | B). ey g
©) g g (- -
Blood pressure i controlieq p, '
(A} Testis B Thymy,
(©)  Thyroig D) Adren,
=N Aot e 8 ey 27
&L o B) iy
(C) Fmify

l1]2|

Page 28 of 40
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which discase is relageq Lo respi
YO .y
Féspiratory system ?

A) Diabetes
( (13) Malaria

¢) Pncumonia .
( (D)  Diarrhoca

10 w1 WU T TR i e 2

(A) TS B e
)L g D) ffEEE

The sugar level in blood is controlled by
(A)  Estrogen ' (B) Progcstcrone
(C) Insulin (D)  Rclaxin

7. e R A FEd ot SR HE-E R 2

) wiERE ' (Br__difm i
\@Tﬁﬁ hHITThT (D) wE R
Whicﬁ -is the lqngest cell of human body ? |
(A) iVluéclcs, (B) Nerve cell
(C)' Blood cell | .. (D). Heart cell

72, g saT AT A A AR 2

(A) HETEESS | B) EICiC I
(©)  =ET (D) R I
S " g

24(M)_H/S-41003—(52/60) Page 29 of 40
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(O,

74,

ll]gl

S i P
scal ca lty !
in bucca Vv
i i ‘\‘tcd ll’]
[ the food 1S dlg(.
Which part o ‘i
( )
(‘ ) ar ohydratc B Protcin

(D) Nuclcic acid
(C) Fat :

: ﬁﬁ@ﬁﬁﬁwméﬁmwmaﬁmél
yfoRivsl & e G ] |
I8 gAIfa o .
(A) TR (B) vfleg d |
©) =& T w1 (D) Wﬁﬁﬁ:@

Out of 5 combination of resistors, one re

sistor,is removed and it jq

found that the net.resistance has inc;eased. The resistor was

connccted in

(A)  paralle] (B) scries

(€)  cannoy be said (D) one of thege
T BR G (60 v 200 V) @ (40w 200V) % & sy 100 v myfi 3
I8 &l 9 39wy 2 |
A 25w B 10y
9 1sw (D) A B
Two aPplianceg ated ‘

TR ’QOOV)and(4OW,200V)arC
Connecteq Cross 100 v, SUpply : _
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n IR (BL—V?/R
c v - D) T & aft

which of the following cxpressions represent(s) clectric powcer 1n

the circuit ?
2
A I°R | (B) V?/R
© v (D)  All of these
6. 39 QUL H IS 1 HewH W 2 ‘

@) 2 | B) 1

(C) % (D) 3Fd

The maximum value of magnification in a convex mirror 1s

a2 ' B 1

(C)- % : | (D) infinite

77. %uamrrmm% |

@) whwgm (B)  deeHie g
(C)  dreerHtet g (D) T & i

Potential difference is mecasurcd by
(A) ammeter (B) voltmeter

(C)  voltamcter ' (D)  all of these

24(M)-H/S-41003-(s2/60)
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78.  fuifra f sR-m s TE R ?

N B - in (B W=3ﬁ‘j+®m
(C) uffrn = Hee + 3W (D) UERR = ¥ + diee
Which of the following statements is truc ?

(A)  volt = ampere + chm  (B)  volt = ohm + ampere
(©)  ampere = volt + ohm D) ampcere = ohm + voly
79.  Trafafes werel § T 3
il S B W
L6 gt D) < g,

Which of the following substances is a conductor ?

(A} Mica (B)  Glass

80, mﬁﬁq%ﬁﬂ]ﬂﬁ%%@%ﬁﬁ?%%?
(AL #ferm B) R
(C)  Yefifry D) wifigepy
Which of (he following is Necessary obtain Nuclear cnergy ?
(A)  Helium (B) Uraniym
(C) Aluhnmurn (D) Chromijym,
24(M) H/S~41003~(52/60) 40
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